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MATH 136 = |

Quiz 9 —NANMET

Consider the velocity function V(t) = 12t* - 't + 4 of an object in motion. Show all work clearly.

a. State the limitations 'chat are placed on variables t and V in context to thefroblem

= \/ |g £ F)(\a ().f -'c/ ﬁm‘/ ﬂ( * —n( // Y /)\/

b. Find the initial velocity of the object.
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c. Find the acceleration fnction a(t) of the object at any time t. (¢ ) :
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d. Find the position function s(t) of the object at any time t, where s(0) =1. se s
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e. Find the maximum and the minimum velocity of the object on the interval [ 0, 1 ].
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f. Find the average velocity of the object on the interval [ 0, 1].
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MATH 136

Quiz 9 NAME:

Consider the velocity function V(t) = 12t* - V't + 4 of an object in motion. Show all work clearly.

a. State the limitations that are placed on variables t and V in context to the problem.
whekher e } elanranr 10 Nagalhe Jeo
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b. Find the initial velocity of the object.
VAZEE
c. Find the acceleration function a(t) of the object at any time t.
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d. Find the position function s(t) of the object at any time t, where s(0) =1.
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e. Find the maximum and the minimum velocity of the object on the interval [ 0, 1 ].
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f.  Find the average velocity of the object on the interval [ 0, 1].
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MATH 136

Quiz 9 NAME—

Consider the velocity function V(t) = 12t - \/t + 4 of an object in motion. Show all work clearly.

a. State the limitations that are placed on variables t and V in context to the problem.
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b. Find the initial velocity of the object.
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c. Find the gcceleration function a(t) of the object at any time t.
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d. Find the position function s(t) of the object at any time t, where s(0) =1.
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e. Find the maximum and the minimum velocity of the object on the interval [ 0, 1 ].
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f. Find the average velocity of the object on the interval [ 0, 1].

Pifd ]
ol B & d “yF Vi
# ¥ . de. B o P oo
e - s 'f}) ,'{ 5 i #
5 P— S Ty f
{ § - [ &5
i p ) { jo
y) A
P i



>

MATH 136
NAME:

Quiz 9

Consider the velocity function V(t) = 12t* - \E + 4 of an object in motion. Show all work clearly.

2. State the limitations that are placed on variables t and V in context to the problem.
V1S tve VeroCwy
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b. Fmg _the initial velocity of the object.
GoyEl (oYt ~Jo vt i =4

. TFind the acceleration function a(t) of the object at any time t.
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R T T E

d. Findthep smon function s(t).of the object at any time t, where s(0) =1.
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e. Find the maxunum and the minimum velo}:lty of the object on the interval [ 0, 1 ].
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f. Flnd the average velocu:y of the object on the interval [ 0, 1]. .
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5. (9 points) Consider the velocity function V(t) = 122 - 4/t + 4 of an object in motion in
feet per second. Show all work clearly.
a. State the lumtanons that are placed on variables t and V in context to the problem
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b. Find the initial velocity of the object. Write a sentence in context of the problem,
mcluding the units, interpreting the initial velocity of the object.
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c. Find the acceleration function a(t) of the object at any time t. Be sure to include
the appropriate units. wtL
4, 2
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d. Find the position function s(t) of the object at any time t, where s(0) =1. Be sure
to include the appropriate units.
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e. Find the maximum and the minimum velocity of the object on the interval [ 0, 1 ].
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f. Fmd the’ average velocity of the object on the interval [ 0, 1].
[

-'-——'_—" —_
G\l@,{'é!\t)ﬁ = |"‘~O f fZLa - \}I_ 4 L ngﬂ.? {‘\:n :wﬁ:l?l ‘*'T-Iﬂ‘«
of rellw
6 Y
( j l . .2.{3'/7_ L ! ) (_l___,j_,k ?(f /“2 ;(IS D_(L’)) /(())
=05 "3 % (s S B
=5 3t o= 5 Feee/seqmmd ™ ~ 3

~Z -

— e



f}}

5. (9 points) Consider the velocity function V(t) = 12 - \/t + 4 of an object in motion in

feet per second. Show all work clearly.
a. State the limitations that are placed on variables

t and V in context to the problem.
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of the object. Write a sentence in context of the problem,

b. Find the initial velocity
e initial velocity of the object.

including the units, interpreting th

c. Find the acceleration function a(t) of the object at any time t. Be sure to include

the appropriate units.
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d. Find the position function s(t) of the object at any time t, where s(0) =1. Be sure

to include the appropriate um%'ts. - (o‘\';‘ ok ( G\l'f,-_ it
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ximum and the minimum velocity of the object on the interval [ 0, 1 ].
M
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e. Find the ma

£ Find the average velocity of the object on the interval [ 0, 1].
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5. (9 points) Consider the velocity function V() = 12¢* - JJT + 4 of an object in motion in

feet per second. Show all work clearly.
o State the limitations that are placed on variables t and V in context to the problem.
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b. Find the initial velocity of the object. Write a sentence in context of the problem,
including the units, interpreting the initial velocity of the object.
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c. Find the acceleration function a(t) of the object at any time t. Be sure t

the appropriate units.

24t ’-éi/L 20

d. Find the position function s(t) of the object at any time t, where s(0) =1. Be sure

to include the appropriate units.

e Tind the maximum and the minimum velocity of the object on the interval [ 0,1 ].

f Find the average velocity of the object on the interval [ 0, 1].
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X'5. (9 points) Consider the velocity function V(t) = 12t? - 4/t + 4 of an object in motion in
feet per second. Show all work clearly.
‘a. State the limitations that are placed on variables t and V in context to the problem.
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<b. Find the initial velocity of the object. Write a sentence in context of the problem,
including the units, interpreting the initial velocity of the object.
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»¢c. Find the acceleration function a(t) of the object at any time t. Be sure to include
the appropriate units.
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d. Find the position function s(t) of the object at any time t, where s(0) =1. Be sure
to include the appropriate units.
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#8 (10 points of extra credit) Consider the velocity function v(t) =
12t2 — +/f + 4 of an object in motion. Show all work clearly.

o State the limitations that are placed on variables t and v(t) in context
to the problem.

b. Find the initial velocity of the object. .

c. Find the acceleration function a(t) of the object at any time t.

d. Find the position function s(t) of the object at any time t, where
5(0) = 1.

e. Find the maximum and the minimum velocity of the object on the
interval [0,1].

f Find the average velocity of the object on the interval [0,1].
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#8 (10 points of extra credit) Consider the velocity function v(t) =
12t2 — +/t + 4 of an object in motion. Show all work clearly.

a. State the limitations that are placed on variables t and v(t) in context
to the problem.

b. Find the initial velocity of the object.

c. Find the acceleration function a(t) of the object at any time ¢.

d. Find the position function s(t) of the object at any time t, where
s(0) = 1.

e Find the maximum and the minimum velocity of the object on the
interval [0,1]. ‘

f Find the average velocity of the object on the interval [0,1].

)L zo e\ min (0,4)
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#8 (10 points of extra credit) Consider the velocity function w(t) =
12t2 — +/t + 4 of an object in motion. Show all work clearly.

*a. State the limitations that are placed on variables t and v(t) in context
#t0 the problem.
°5 Find the initial velocity of the object.
c Find the acceleration function a(t) of the object at any time ¢.
‘4. Find the position function s(t) of the object at any time t, where
s(0) = 1.
V€. Find the maximum and the minimum velocity of the ObJGCt on the
interval [0,1].
f. Find the average velocity of the object on the interval [0,1].
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5. (9 points) Consider the velocity function V(t) = 128 - v/t + 4 of an object in motion in
feet per second. Show all work clearly.
a State the limitations that are placed on variables t and V in context to the problem.

>0

b. Find the initial velocity of the object. Write a sentence in context of the problem,
including the units, 1nterpret1ng the initial velocity of the object.
V(o) = 1@)”"’ AJo = @
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c. Find the acceleration function a(t) of the object at any time t. Be sure to include
the appropriate units.

- Ty
VT 2

d. Find the position function s(t) of the object at any time t, where s(0) =1. Be sure

to include the appropriate units. , 2, . 2
- L — SRS N RS
f(er ey ar = e = YRR TR
o oA min i im0 = 3;:3;;_
ﬁ\t’s_ 2 gy vy 3@2{ | = 4B - F o) HuLe)
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e. Find the maximum and the minimum velocity of the object on the interval { 0, 1 ].

rainy = G

£ Find the average velocity of the object on the interval [ 0, 1].




5. (9 points) Consider the velocity function V(t)

%//'?/

= 12¢ - /T + 4 of an object in motion in

feet per second. Show all work clearly.
a  State the limitations that are placed

Domw’f\ . Lo, (’O\
Kcm«-ccs.xz/é PN

b. Find the initial velocity of the object. Write a sentence in context of the problem,
including the units, interpreting the initial velocity of the object.

gy iyln? JE 54 = Y

on variables t and V in context to the problem.

c. TFind the acceleration function a(t) of the object at any time t. Be sure to include

the appropriate units.

\I'u\f L - ‘—é‘f(v

*In

d. Find the position function s(t) of the object at any, time t, where $(0) =1. Be sure
to include the appropriate units, ‘_4,,?;_
i I
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c. Fiﬁd the maximum and the minimum velocity of the object on the interval [ 0, 1 ].

vloN -~ W opmin

NG \g W ax

£ Tind the average velocity of the object on the interval [ 0, 1].
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(10 points) 12. Calculate f; (3 — x*)dx using the formula

Lbf(x)dx = limn_,qo?:n—a-if
. i=1
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(10 points) 13. Consider the velocity function V{(t) = 12t —\t + 4 of an objectin

motion. Show all work clearly.
a) State the limitations that are placed on variables tand V in context to the problem.

b) Find the initial velocity of the object.

¢) Find the acceleration function a(t) of the object at any time t.

d) Find the position function s(t) of the object at any time t, where s(0) =1.

¢) Find the maximum and the minimum velocity of the object on the mterval {0, 1 1.
f) Find the average velocity of the object on the interval [ 0, 1]. o \
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(10 points) 12. Calculate f01(3—x2)dx using the formula bﬁ ?:LO
J. Fflx)dxe = Itmn_,m d(&) = f- \ 2
[ioa _d-0 il 1 -0
e TR le‘-f /o — (1,))
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(10 points) 13. Consider the velocity function V(¢) = 12t?> —+/t + 4 of an object in

motion. Show all work clearly.

a) State the limitations that are placed on variables t and V in context to the problem.
b) Find the initial velocity of the object. '

¢) Find the acceleration function a(t) of the object at any time t.

d) Find the posmon function s(t) of the object at any time t, where s(0) =1.

¢) Find the maximum and the minimum velocity of the object on the interval [ 0, 1 ].
f) Find the average velocity of the object on the interval [ 0, 1].
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(10 points) 12. Calculate f01(3 — x%)dx using the formula

e 2
z fa+ -b—a) Q(X\ = 3¥

b
f f(x)dx = lrmﬂh,c,o
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(10 points) 13. Consider the velocity function V() = 12t* — vt+4 ofanobjectin
motion. Show all work clearly.

a) State the limitations that are placed on variables t and V in context to the problem.
b) Find the initial velocity of the object. '

¢) Find the acceleration function a(t) of the object at any time t. /N

d) Find the position function s(t) of the object at any time t, where s(0) =1.

e) Find the maximum and the minimum velocity of the object on the interval [ 0, 1 ].
p‘! Find the average velocity of the object on the interval [ 0, 1]. <ﬂ_~n——w’-~;-‘ ‘““‘“‘”>
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(10 points) 12. Calculate [ (3 —x*)dx using the formula 0 0, be \) Civis e

J-f(x)dx lim, e —aZf(a—l——L)
) forw) M) 4 3
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(10 points) 13. Consider the velocity function V(t) = 121‘:2 — \/_ + 4 of an object in
motion. Show all work clearly.
a) State the limitations that are placed on variables t and V in context to the problem.
b) Find the initial velocity of the object. '
¢) Find the acceleration function a(t) of the object at any time t.
d) Find the position function s(t) of the object at any time t, where s(0) =1.
e) Find the maximum and the minimum velocity of the object on the interval [ 0, 1 ].
f) Find the average velocity of the object on the interval [ 0, 1].

» ] . 1 oive tn b poy/vieg but WS 3
Q) . _'(\’NA:A . POSIE 2 oF the_.«'-_v W g\fb::/nta n;dacﬁ\q

Woke &S € iri ynolion
—_.LJ, pos 1he/dec )

b Ny=tl
0) 1aln= it - ' g
) slh= Uy - lé-;"..ﬁlx s, o)z 00 C C=] st Ut AL

K\ is wieasing T, 20 1/ Sind WD Goy Nt -% YL b To mr--.‘
6)- \f(u) Jace) -0y = H : \Ju)— 1244 -3 *' 15 - |
(hlhn W :”“\\J L\ WW"‘ W loc “j = L{_
AT TN (a0 e e ) m.+5~‘*‘.-,h\

Ay T v

g



W

(10 points) 12. Calculate | 01(3 — x%)dx using the formula

b ' b n b -\(: (’X) - 3 = y-r
f flx)dx = limn-m—Zf(a + D
a Toon 4 n
i=1
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(10 points) 13. Consider the velocity function V(t) = 12t2 =\ +4 of an objectin » 3

motion. Show all work clearly.

a) State the limitations that are placed on variables t and V in context to the problem.
b) Find the initial velocity of the object. A

c¢) Find the acceleration function a(t) of the object at any time t.

d) Find the position function s(t) of the object at any time t, where s(0) =1.

e) Find the maximum and the minimum velocity of the object on the interval [ 0, 1 ].
f) Find the average velocity of the object on the interval [ 0, 1].
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(10 points) 12. Calculate [;(3 —x?)dx using the formula

b b—ax b—
L fl)dx = limn_,-op—n—a-Zf(a+ nai)

\ o S =
J(E—Xq‘)clx i L;-:Hoo " = (3—(0+ H '> )
0 ;
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(10 points) 13. Consider the velocity function V (t) = 12t%2 —+/t +4 of an object in
motion. Show all work clearly.
a) State the limitations that are placed on variables t and V in context to the problem.
b) Find the initial velocity of the object.
c¢) Find the acceleration function a(t) of the object at any time t.
d) Find the position function s(t) of the object at any time t, where s(0) =1.
e) Find the maximum and the minimum velocity of the object on the interval [ 0, 1 ].
f) Find the average velocity of the object on the interval [ 0, 1].
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(10 points) 13. Consider the velocity function V' (t) = 12t? —+/t + 4 of an object in
motion. Show all work clearly.

a) State the limitations that are placed on variables t and V in context to the problem. -
b) Find the initial velocity of the object.

¢) Find the acceleration function a(t) of the object at any time t.

d) Find the position function s(t) of the object at any time t, where s(0) =1.

¢) Find the maximum and the minimum velocity of the object on the interval-[ 0, 1 ].
f) Find the average velocity of the object on the interval [ 0, 1].
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(10 points) 12. Calculate | OIQB — x%)dx using the formula
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(10 points) 13. Consider the velocity function V (¢) = 12t% — 4  of an object in
motion. Show all work clearly.
a) State the limitations that are placed on yanablaﬁ_t.and__ in context to the problem.?
b) Find the initial velocity of the object.{ 2| -I- TT e \]-\—
¢) Find the acceleration function a(t) of
d) Find the posmon function s(t) of the object at any time t, Where s(0)=1.1
¢) Find the maximum and the minimum velocity of the object on the mterval [0,1].7
f) Find the average velocity of the object on the interval [ 0, 1]. } ‘
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(10 points) 12. Calculate [;(3 — x®)dx using the formula
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(10 points) 13. Consider the velocity function V(t) = 12t2 —+/t + 4 of an object in
motion. Show all work clearly.

a) State the limitations that are placed on variables t and V in context to the problem.
b) Find the initial velocity of the object.

¢) Find the acceleration function a(t) of the object at any time t.

d) Find the position function s(t) of the object at any time t, where s(0) =1.

e) Find the maximum and the minimum velocity of the object on the interval [ 0, 1 ].
f) Find the average velocity of the object on the interval [ 0, 1]
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(10 points) 12. Calculate [ (3 —x?)dx using the formul
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(10 points) 13. Consider the velocity function V(t) = 12¢t* — vt +4  of an object in

motion. Show all work clearly.
a) State the limitations that are placed on variables t and V in context to the problem.

b) Find the initial velocity of the object. ,

¢) Find the acceleration function a(t) of the object at any time t.

d) Find the position function s(t) of the object at any time t, where s(0) =1.

¢) Find the maximum and the minimum velocity of the object on the interval [ 0, 1 ].
f) Find the average velocity of the object on the interval [0, 1].
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(10 points) 12. Calculate f01(3—x2)dx using the formula
b ‘ h—ax b—a,
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(10 points) 13. Consider the velocity function V(t) = 12t? —+/t +4 of an object in
motion. Show all work clearly.

a) State the limitations that are placed on variables t and V in context to the problem.
b) Find the initial velocity of the object.

¢) Find the acceleration function a(t) of the object at any time t.

d) Find the position function s(t) of the object at any time t, where s(0) =1.

e) Find the maximum and the minimum velocity of the object on the interval [ 0, 1 ].
f) Find the average velocity of the object on the interval [ 0, 1].
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(10 points) 12. Calculate [, (3 —x?)dx using the formula
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(10 points) 13. Consider the velocity function V(t) = 12t> —v/t +4 of an object in
motion. Show all work clearly.
Vi a) State the limitations that are placed on variables t and V in context to the problem.
+ = b) Find the initial velocity of the object.
e} ¢) Find the acceleration function a(t) of the object at any time t.

)

)

¢ d) Find the posmon function s(t) of the object at any time t, where s(0) =1.
e) Find the maximum and the minimum velocity of the object on the interval [ 0, 1 ].
f) Find the avarageu\(\ebocﬁy of the object on the interval [ 0, 1].
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(10 points) 12. Calculate [ (3 — x2)dx using the formula [y =L F—
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(10 points) 13. Consider the velocity function V(t) = 12¢2 —+/t +4 of an object in

motion. Show all work clearly.

a) State the limitations that are placed on variables t and V in context to the problem.

b) Find the initial velocity of the object.

¢) Find the acceleration function a(t) of the object at any time t.

d) Find the position function s(t) of the object at any time t, where s(0) =1.

e) Find the maximum and the minimum velocity of the object on the interval { 0, 1 ].

f) Find the average velocity of the object on the interval [ 0, 1]
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